ANSWERS- VOLUME 2: EQUILIBRIUM
Chapter 3, Cross-Sectional Properties

problem 3.26,1- 6, page 142

Remarks: See §3.2.4, example 7, pages 114 till 115
Answers 3.26-1:

a. I, = 2,083x10° mm*; this is not a principal value
b. 1,, =3,333x10° mm*; this is not a principal value
c. l,=15x10° mm*

Answers 3.26-2:

a. |, =52,2x10° mm*; this is a principal value
b. 1,, =325x10° mm*; this is a principal value
c. 1,=0

Answers 3.26-3:

a. |, =110x10° mm*; this is a principal value

b. 1,, =252,5x10° mm*; this is a principal value
c. 1,=0

Explanation 3.26-1:
Location of the normal centre from the top-right corner of the cross-

section:
Yc =350 mm and z; =200 mm

Explanation 3.26-2:

The NC is at the centre of the cross-section due to symmetry

Explanation 3.26-3:

Location of the normal centre from the top-right corner of the cross-
section:

Yc =15 mm andz; =22,5 mm
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ANSWERS- VOLUME 2: EQUILIBRIUM
Chapter 3, Cross-Sectional Properties

problem 3.26,1- 6, page 142

Answers 3.26-4:

a. I, =319,167 x10° mm?*; this is not a principal value

b. 1,, =372,5x10° mm*; this is not a principal value

c. I, =-87,5x10° mm*

Answers 3.26-5:

a. |, =110x10° mm*; this is a principal value
b. 1,, =920x10° mm*; this is a principal value
c.

l, =0

Answers 3.26-6:

_ 9 4ogic o
. 1y, =3,067x10° mm™; this is a principal value

a
b. 1,, =6,667x10° mm*; this is a principal value
c. l,=0

Explanation 3.26-4:

Location of the normal centre from the bottom-right corner of the
cross-section:

Yc =39,167 mm en z; =-17,5 mm

Explanation 3.26-5:

The NC is at the centre of the cross-section due to symmetry

Explanation 3.26-6:

First calculate the moments of inertia of the large rectangle then
subtract the moments of inertia of the smaller square
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